EARAROBEEIERT — 2 N— IBISH —F

201952A1H (£) 24EEHE4H

m 75 4y hE B8 45%—M (xwlw | mEmml - |5 @) o s
[AE4£] 1% :250,000 ™ ~ 23#%:63,000”  33&:30,000H” . 437:20,000MH .~ 57&:13,000
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
o N 44 | ALEFEER 1:45.3 2-2-1-1 | 39.7| — 1 472 | BREF (BEHE)
1 6 /1_//1477_ 56.0 - o () 77— FESa>
R:TSvr84F B:5TU—NO-X EdHTT— I
3 . 4 4 | SHEKX 1:45.6 6-6-32 [39.7| — 2 497 |[MTTEA (BEHE)
2 2 JE—O~v> 56.0 (1 1/2) +3) KB
R:ELTFAYY B:itr /AT Lakibie
= i 7 | AMEHEE 1:45.7 8-9-6-4 |39.6| — 3 460 |EHEX (BHE)
3l7/8|71A—TAR/=T) - 8.0 (1/2) (-5) gil;]'%
RA-JZXA2 x4 BTN/ =TI R FRERS
= 5N, e = 4t 6 | RIRFWAE 1:46.2 7-7-5-4 | 40.1 | — 7 440 | FHES (BHE)
401101 GATTAT T 54.0 (2 1/2) (-3) () Bll%E
RILIATA—H— BTHESAIY AR 8
£=TI # o4 | HEBL 1:46.4 3-4-2-3 |40.6| — | 5 | 495 |HTHM (BEE)
5189 - 56.0 (3/4) (+1) (%) 77—RREYa >
LN—RRIN> BiHLRY—AOF(— H—L— - SuiX> - 77— LERES
SR = o5 | LLUE#RE 1:47.2 10-10-10-7 | 40.7 | — 9 467 | BHEH (BEHE)
67| 7| ¥RV A=xT> 56.0 @) 5 | @) Fr—xtETVa>
R:TRIAYI Y IR BAA—bH AT LR 45
C— it o6 | 1R 1:47.3 9-8-8-6 | 41.0| — 8 512 |ETIB—2 (BHE)
718110 J—=HITUL 54.0 (1/2) (+4) BRERRE X
x4 vagyayy B:Iv—o29-)b J =Y Tr—L
o—p KEFHI : -3-7- — HLEE (BHE)
8 3Ly KT—7 6 e 1.(45.0 3-3-7-9 | 42.9 6 <5+175) i
R:d—IWRTI—7 B:F7IN/*H ®E Ex
. FIE— 149, ~5-9- . - FEME (BHE)
955 FE—LYAJLR 4 5 P (12419/25) 5-5-9-8 | 43.2 10 (4_389) %??ﬁ?l\a
L:Tv AT Ly h— B:ZXU—%t%x puit e ]
N o = PNEREE— - 1-1-4 - — 4 W | SEEZ (BEE)
W METADIIE: 55 (i) Lo | B
L:viNnNyarhTr B:L—F4 b H-—FTX IS
® 1—F—@EBIERL
1T=7r= 4,6,(3,9),5,2,1,8,10,7
2a=5F= 4,6,3,9,5,2,1,10,8,7
Ja=5= 6,9,2,4,1,8,3,10,5,7
43—+ — 6,2,9,(1,8),10,7,5,3
[ N5
B 6 150/ 714K 2-6 110H e E 2-6 170M JEE 2-6-8 220M
B B 6 1004 6-8 170H B = 2-6 220M JEE 6-2-8 500
2 120 2-8 190H B H 6-2 310
8 1509

ABICOVWTRDTEEERROODE. TR LIV,




